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1. Draw a sketch of a one-to-one function. Explain how you know it is one-to-one.
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The following statements describe situations where functions relate two
qmmt@. tative variables. For each situation:
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» if possible, give a rule for the function that is described.
* determine whether the given function has an inverse,

* if an inverse exists, give a rule for that inverse function (if possible) and
explain what it tells about the variables of the situation,

b. If a school assigns 20 students to each mathematics class, the number of
mathematics classes M is a function of the number of mathematics students
g in that school. . S
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A vacuum pump attached to a chamber removes 5% of the gas in the chamber
~ with each pump cycle.

a. What function shows the percent of gas remaining in the (:hambar after n
pump cyeles?
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b. How many full cycles are needed before at least 99% of the gas is removed?
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‘“§§ Use the facts that log 20 == 1.3 and log 16 = 1.2 and the properties of j
logarithms to find approximate decimal values for each of these imhanthmsm

- without the use of technology.

a. log 320 , b. log 1.25 ¢, log 400
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Use properties of logarithms to write the following expressions in different
equivalent forms. : ‘
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i Use what you know about logarithms to solve these equations without
' rewriting the exponential expressions in quivalent base 10 form. T2 Wown ded +o
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3.1t log,.,,,27 = 3, find the value of x.
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suppose that 7 is a positive number.

a If0 < logn < 1, what can you say about #?
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o lfp<logn<p+1, wherepisa p(‘)sifi\fﬁ‘- integer, what can you say about »?
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5. The population of Nigeria at the beginning of 2008 was about 140 million and growing
exponentially at a rate of about 2.4% per year. Write a function P(t) that will model this
situation. Then find algebraically, when the population is predicted to reach 200 million.
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6. SIMPLIFY:
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7. What is the value of4:::2 +x2%+x 4 whenx = 167

J(1e) + () + (’L«D)—Jtr

Solve for x: 165 = 32310
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